This is an example of a doubles Tennis match between teams A & B and C & D.

Scenario:
- A & B win the coin toss and choose to
serve first.
- A serves from the right service court.

Score:0-0

Service: Serving from the

Right Service Court.

T\ Server & Receiver: A serves to C.

O O Winner: A& B

Score: 15-15

Service: Serving from the

Right Service Court.

Server & Receiver: A serves to C.
Winner: A& B

Score: 30-30

Service: Serving from the

Right Service Court.

Server & Receiver: A serves to C.
Winner: C& D

Score: 40-40 = Deuce

Service: Serving from the

Right Service Court.

Server & Receiver: A serves to C.
Winner: A & B

40-40

Deuce

Score: 15-0

i)

==
.
| —:

Service: Serving from the

Left Service Court.

Server & Receiver: A serves to D.
C & D do not move.

Winner: C& D

Score: 30-15

Service: Serving from the

Left Service Court.

Server & Receiver: A serves to D.
Winner: C & D

Score: 40-30

Service: Serving from the

Left Service Court.

Server & Receiver: A serves to D.
Winner: A & B

Score: Advantage A & B
Service: Serving from the

A B

il 1)

Advantage
A&B

Left Service Court.
Server & Receiver: A serves to D.
Game Winner: A & B

The server will switch service courts every point, regardless of which team won the previous rally.



